Year 4 Math Assiecnment 1: Binomial Theorem

Q1 Draw the Pascal’s triangle for the first 6 rows and use it to write down the expansions of
(@) (x+y) (b) (a—2b)' @) @35
Q2 Find the coefficient of x* in the following expansions.
(@) 2-x) | (b) (3+2x)’ (c) 2-2x)
Q3 The coefficient of x* in the expansion of (x +2y)’ is 24. Find the value of y.

Q4  Expand completely

@ (Bx-2y)’ (b) 2+x)(1-x)"

Q5 Given that x is small such that terms of x° and higher can be ighored, expand (2x +3)(7 - 2x)°.
P

Sel X2 '
) (a-20)"= - Had@Eby+ 6o (26) - Ha (2b) i+ () WA
= 0'- &a’b+2ta*b*— 320b3+16bL", B e S
) (4-3x) = 42=-5(#)*(3x)+10(#)°(Bx)- to(lf):(_?x)3+5('+)(3x)‘*_ (3x)>
< 1024 - 3840 % ¥ ST60x — 4320 x *4 (620% — 343 x>
83 Ta= (D)2'exy @3) T, = ()x?(2y)
- codfPciatt of 2T is 804 | 6:3 = 2%
= T = (3)3% (2)° 37t
oo cient o ™IS b G4a) (axuzj)* = (3x)*_%(31)3(233+ 6(31)1(2332
ATz = (3)12) (20 =R )
coefRiciont o * is Lt w = Blx - 3\6x3j +D.163C:31— ﬂéxj%léf
&tk) (1-x )= |- ‘

Hx+ b5 =434 xt

@5) (1-2¢)%= 7= 5121 )+100 0y
. o S (2000-3) = (253001 v o = B+ 1)

3
L xa2)(7-25)° =2-%%+4 120 8o+ 2  de~ 4t bx
a "_}"l‘ x_‘++ xs
= (2x43)Q6ROT — 2401034 13T20>¢+.])

= - 2 3 i 5
_ ~ o ~ * LT 482 - - Ax '+ 7,
23bt . — 48020 + 5042\~ T12030]

4+ 260 Tt

= SO421~ 384 boe — LRLOX H .
o

o




